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NEW QUESTION 1
A network technician needs to correlate security events to analyze a suspected intrusion Which of the following should the technician use?

A. SNMP

B. Log review

C. Vulnerability scanning
D. SIEM

Answer: D

NEW QUESTION 2

A network engineer performs the following tasks to increaseserver bandwidth: Connects two network cables from the server to a switch stack
Configure LACP on the switchports

Verifies the correct configurations on the switch interfaces

Which of the following needs to be configured on the server?

A. Load balancing
B. Multipathing

C. NIC teaming
D. Clustering

Answer: C

NEW QUESTION 3
A store owner would like to have secure wireless access available for both business equipment and patron use. Which of the following features should be
configured to allow different wireless access through the same equipment?

A. MIMO
B. TKIP
C.LTE
D. SSID

Answer: D

NEW QUESTION 4

A network technician was troubleshooting an issue for a user who was being directed to cloned websites that were stealing credentials. The URLs were correct for
the websites but an incorrect IP address was revealed when the technician used ping on the user's PC After checking the is setting, the technician found the DNS
server address was incorrect Which of the following describes the issue?

A. Rogue DHCP server
B. Misconfigured HSRP
C. DNS poisoning

D. Exhausted IP scope

Answer: D

NEW QUESTION 5
A network administrator redesigned the positioning of the APs to create adjacent areas of wireless coverage. After project validation, some users still report poor
connectivity when their devices maintain an association to a distanced AP. Which of the following should the network administrator check FIRST?

A. Validate the roaming settings on the APs and WLAN clients
B. Verify that the AP antenna type is correct for the new layout
C. Check to see if MU-MIMO was properly activated on the APs
D. Deactivate the 2.4GHz band on the APS

Answer: A

NEW QUESTION 6
A network technician needs to ensure outside users are unable to telnet into any of the servers at the datacenter. Which of the following ports should be blocked
when checking firewall configuration?

A. 22
B. 23
C. 80
D. 3389
E. 8080

Answer: B
NEW QUESTION 7
A corporation has a critical system that would cause unrecoverable damage to the brand if it was taken offline. Which of the following disaster recovery solutions

should the corporation implement?

A. Full backups
B. Load balancing

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy N10-008 dumps

@ 2 P QsseaQs LJ https://lwww.2passeasy.com/dumps/N10-008/ (264 New Questions)

C. Hot site
D. Snapshots

Answer: C

NEW QUESTION 8

A network technician is investigating an issue with a desktop that is not connecting to the network. The desktop was connecting successfully the previous day, and
no changes were made to the environment. The technician locates the switchport where the device is connected and observes the LED status light on the
switchport is not lit even though the desktop is turned on Other devices that arc plugged into the switch are connecting to the network successfully Which of the
following is MOST likely the cause of the desktop not connecting?

A. Transceiver mismatch
B. VLAN mismatch

C. Port security

D. Damaged cable

E. Duplex mismatch

Answer: C

NEW QUESTION 9
An organization with one core and five distribution switches is transitioning from a star to a full-mesh topology Which of the following is the number of additional
network connections needed?

0

.5
.7
1
.15

o0Ow>

Answer: A

NEW QUESTION 10
A technician is assisting a user who cannot connect to a network resource. The technician first checks for a link light. According to troubleshooting methodology,
this is an example of:

A. using a bottom-to-top approach.
B. establishing a plan of action.

C. documenting a finding.

D. questioning the obvious.

Answer: D

NEW QUESTION 10
An IDS was installed behind the edge firewall after a network was breached. The network was then breached again even though the IDS logged the attack. Which
of the following should be used in place of these devices to prevent future attacks?

A. A network tap

B. A proxy server

C. AUTM appliance
D. A content filter

Answer: C

NEW QUESTION 12

A lab environment hosts Internet-facing web servers and other experimental machines, which technicians use for various tasks A technician installs software on
one of the web servers to allow communication to the company's file server, but it is unable to connect to it Other machines in the building are able to retrieve files
from the file server. Which of the following is the MOST likely reason the web server cannot retrieve the files, and what should be done to resolve the problem?

A. The lab environment's IDS is blocking the network traffic 1 he technician can whitelist the new application in the IDS

B. The lab environment is located in the DM2, and traffic to the LAN zone is denied by defaul

C. The technician can move the computer to another zone or request an exception from theadministrator.

D. The lab environment has lost connectivity to the company router, and the switch needs to be rebooted.The technician can get the key to the wiring closet and
manually restart the switch

E. The lab environment is currently set up with hubs instead of switches, and the requests are getting bounced back The technician can submit a request for
upgraded equipment tomanagement.

Answer: B

NEW QUESTION 16

The following configuration is applied to a DHCP server connected to a VPNconcentrator:

There are 300 non-concurrent sales representatives who log in for one hour a day to upload reports, and 252 of these representatives are able to connect to the
VPN without any Issues. The remaining sales representatives cannot connect tothe VPN over the course of the day. Which of the following can be done to resolve
the issue without utilizing additional resources?

A. Decrease the lease duration

B. Reboot the DHCP server
C. Install a new VPN concentrator
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D. Configure a new router

Answer: A

NEW QUESTION 21
A technician is writing documentation regarding a company’s server farm. The technician needs to confirm the server name for all Linux servers. Which of the
following commands should the technician run?

A. ipconfig
B. nslookup
C.arp

D. route

Answer: B

NEW QUESTION 24
Which of the following transceiver types can support up to 40Gbps?

A. SFP+
B. QSFP+
C. QSFP
D. SFP

Answer: B

NEW QUESTION 26
There are two managed legacy switches running that cannot be replaced or upgraded. These switches do not support cryptographic functions, but they are
password protected. Which of the following should a network administrator configure to BEST prevent unauthorized access?

A. Enable a management access list

B. Disable access to unnecessary services.
C. Configure a stronger password for access
D. Disable access to remote management
E. Use an out-of-band access method.

Answer: A

NEW QUESTION 31
Which of the following would need to be configured to ensure a device with a specific MAC address is always assigned the same IP address from DHCP?

A. Scope options

B. Reservation

C. Dynamic assignment
D. Exclusion

E. Static assignment

Answer: B

NEW QUESTION 36
A technician is installing multiple UPS units in a major retail store. The technician is required to keep track of all changes to new and old equipment. Which of the
following will allow the technician to record these changes?

A. Asset tags

B. A smart locker

C. An access control vestibule
D. A camera

Answer: A

NEW QUESTION 38
Which of the following is the physical topology for an Ethernet LAN?

A. Bus
B. Ring
C. Mesh
D. Star

Answer: D

NEW QUESTION 41

Which of the following connector types would have the MOST flexibility?
A. SFP

B. BNC
C.LC
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D. RJ45

Answer: A

NEW QUESTION 43
Which of the following routing protocols is used to exchange routeinformation between public autonomous systems?

A. OSPF
B. BGP
C. EGRIP
D. RIP

Answer: B

NEW QUESTION 45
Which of the following types of devices can provide content filtering and threat protection, and manage multiple IPSec site-to-site connections?

A. Layer 3 switch

B. VPN headend

C. Next-generation firewall
D. Proxy server

E. Intrusion prevention

Answer: C

NEW QUESTION 49
A network administrator discovers that users in an adjacent building areconnecting to the company’s guest wireless network to download inappropriate material.
Which of the following can the administrator do to MOST easily mitigate this issue?

A. Reduce the wireless power levels
B. Adjust the wireless channels

C. Enablewireless client isolation

D. Enable wireless port security

Answer: A

NEW QUESTION 54
A technician wants to install a WAP in the center of a room that provides service in a radius surrounding a radio. Which of the following antenna types should the
AP utilize?

A. Omni

B. Directional
C. Yagi

D. Parabolic

Answer: A

NEW QUESTION 55

A network administrator is setting up several loT devices on a new VLAN and wants to accomplish the following
* 1. Reduce manual configuration on each system

* 2. Assign a specific IP address to each system

* 3. Allow devices to move to different switchports on the same VLAN

Which of the following should the network administrator do to accomplish these requirements?

A. Set up a reservation for each device

B. Configure a static IP on each device

C. Implement private VLANSs for each device

D. Use DHCP exclusions to address each device

Answer: C

NEW QUESTION 60
A Chief Information Officer (CIO) wants to improve the availability of a company's SQL database Which of the following technologies should be utilized to achieve
maximum availability?

A. Clustering

B. Port aggregation
C. NIC teaming

D. Snapshots

Answer: C

NEW QUESTION 65
An organization wants to implement a method of centrally managing logins to network services. Which of the following protocols should the organization use to
allow for authentication, authorization and auditing?
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A. MS-CHAP
B. RADIUS
C. LDAPS
D. RSTP

Answer: A

NEW QUESTION 70
A branch of a company recently switched to a new ISP. The network engineer was given a new IP range to assign. The ISP assigned 196.26.4.0/26, and the
branch gateway router now has the following configurations on the interface that peers to the ISP:

The network engineer observes that all users have lost Internet connectivity. Which of the following describes the issue?

A. The incorrect subnet mask was configured
B. The incorrect gateway was configured

C. The incorrect IPaddress was configured
D. The incorrect interface was configured

Answer: A

NEW QUESTION 73
A network engineer is investigating reports of poor network performance. Upon reviewing a report, the engineer finds that jitter at the office is greater than 10ms on
the only WANconnection available. Which of the following would be MOST affected by this statistic?

A. A VoIP sales call with a customer

B. An in-office video call with a coworker
C. Routing table from the ISP

D. Firewall CPU processing time

Answer: A

NEW QUESTION 78

You are tasked with verifying the following requirements are met in order to ensure network security. Requirements:
Datacenter

Ensure network is subnetted to allow all devices to communicate properly whileminimizing address space usage
Provide a dedicated server to resolve IP addresses and hostnames correctly and handle port 53 traffic Building A
Ensure network is subnetted to allow all devices to communicate properly while minimizing address space usage
Provide devices to support 5 additional different office users Add an additional mobile user

Replace the Telnet server with a more secure solution Screened subnet

Ensure network is subnetted to allow all devices to communicate properly while minimizing address space usage
Provide a server to handle external 80/443 traffic Provide a server to handle port 20/21 traffic INSTRUCTIONS
Drag and drop objects onto the appropriate locations. Objects can be used multiple times and not all placeholders need to be filled.
Available objects are located in both the Servers and Devices tabs of the Drag & Drop menu.

If at any time you would like to bring back the initial state of the simulation, please click the Reset All button.
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A. Mastered
B. Not Mastered

Answer: A

Explanation:

Top left subnet — 206.208.134.0/28

Top right subnet — 10.72.63.0/28 Bottom subnet — 192.168.11.0/28

Screened Subnet devices — Web server, FTP server

Building A devices — SSH server top left, workstations on all 5 on the right, laptop on bottom left DataCenter devices — DNS server.

NEW QUESTION 81
Which of the following protocol types describes secure communication on port 4437

A. ICMP
B. UDP

C.TCP

D.IP

Answer: C

NEW QUESTION 83

A company built a new building at its headquarters location. The new building is connected to the company’s LAN via fiber-optic cable. Multiple users in the new
building are unable to access the company’s intranet site via their web browser, but they are able to access internet sites. Which of the following describes how
the network administrator can resolve this issue?

A. Correct the DNS server entries in the DHCP scope
B. Correct the external firewall gateway address

C. Correct the NTP server settings on the clients

D. Correct a TFTP Issue on the company’s server

Answer: A

NEW QUESTION 88
A user recently made changes to a PC that caused it to be unable to access websites by both FQDN and IP Local resources, such as the file server remain
accessible. Which of the following settings did the user MOST likely misconfigure?

A. Static IP

B. Default gateway
C. DNS entries

D. Local host file

Answer: B

NEW QUESTION 93
Which of the following service models would MOST likely be used toreplace on-premises servers with a cloud solution?

A. PaaS
B. laaS
C. SaaS
D. Disaster recovery as a Service (DRaaS)

Answer: B

NEW QUESTION 96
A technician wants to deploy a new wireless network that comprises 30 WAPs installed throughout a
three-story office building. All the APs will broadcast the sameSSID for client access. Which of the following BEST describes this deployment?

A. Extended service set

B. Basic service set

C. Unified service set

D. Independent basic service set

Answer: A

NEW QUESTION 97

Access to a datacenter should be individually recorded by a card reader even when multiple employees enter the facility at the same time. Which of the following
allowsthe enforcement of this policy?

A. Motion detection

B. Access control vestibules

C. Smart lockers

D. Cameras

Answer: B
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NEW QUESTION 100
Anetwork administrator is configuring a load balancer for two systems. Which of the following must the administrator configure to ensure connectivity during a
failover?

A.VIP

B. NAT

C. APIPA

D. IPv6 tunneling
E. Broadcast IP

Answer: A

NEW QUESTION 102
A network administrator needs to query the NSs for a remote application. Which of the following commands would BEST help the administrator accomplish this
task?

A. dig

B. arp

C. show interface
D. hostname

Answer: A

NEW QUESTION 103
A network administrator is designing a new datacenter in a different region that will need to communicate to the old datacenter with a secure connection. Which of
the following access methods would provide the BEST security for this new datacenter?

A. Virtual network computing
B. Secure Socket Shell

C. In-band connection

D. Site-to-site VPN

Answer: D

NEW QUESTION 104
Which of the following TCP ports is used by the Windows OS for file sharing?

A.53
B. 389
C. 445
D. 1433

Answer: C

NEW QUESTION 108
A network administrator is implementing OSPF on all of a company’s network devices. Which of the following will MOST likely replace all the company’s hubs?

A. A Layer 3 switch
B. A proxy server

C. ANGFW

D. A WLAN controller

Answer: A

NEW QUESTION 109

A network technician is investigating an IP phone that does not register in the VolP system Although it received an IP address, it did not receive the necessary
DHCP options The information that is needed for the registration is distributes by the OHCP scope All other IP phones are working properly. Which of the following
does the technician need to verify?

A. VLAN mismatch

B. Transceiver mismatch
C. Latency

D. DHCP exhaustion

Answer: A

NEW QUESTION 112
A workstation is configured with the following network details:

Software on the workstation needs to send a query tothe local subnet broadcast address. To which of the following addresses should the software be configured to
send the query?

A.10.1.2.0
B.10.1.2.1
C.10.1.2.23
D. 10.1.2.255
E. 10.1.2.31
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Answer: E

NEW QUESTION 115
Which of the following factors should be considered when evaluating a firewall to protect a datacenter’s east-west traffic?

A. Replication traffic between an on-premises server and a remote backup facility
B. Traffic between VMs running on different hosts

C. Concurrent connections generated by Internet DDoS attacks

D. VPN traffic from remote offices to the datacenter’s VMs

Answer: A

NEW QUESTION 119

A network engineer is designing a new secure wireless network. The engineer has been given the following requirements:
* 1 Must not use plaintext passwords

* 2 Must be certificate based

* 3. Must be vendor neutral

Which of the following methods should the engineer select?

A. TWP-RC4
B. CCMP-AES
C. EAP-TLS
D. WPA2

Answer: C

NEW QUESTION 124
A network field technician is installing and configuring a secure wireless network. The technician performs a site survey. Which of the following documents would
MOST likely be created as a result of the site survey?

A. Physical diagram
B. Heat map

C. Asset list

D. Device map

Answer: B

NEW QUESTION 127
A technician is installing a cable modem in a SOHO. Which of the following cable types will the technician MOST likely use to connect a modem to the ISP?

A. Coaxial

B. Single-mode fiber
C. Cat 6e

D. Multimode fiber

Answer: A

NEW QUESTION 132

A wireless network was installed in a warehouse for employees to scan crates with a wireless handheld scanner. The wireless network was placed in the corner of
the building near the ceiling for maximum coverage However users in the offices adjacent lo the warehouse have noticed a large amount of signal overlap from the
new network Additionally warehouse employees report difficulty connecting to the wireless network from the other side of the building; however they have no
issues when lhey are near the antenna Which of the following is MOST likely the cause?

A. The wireless signal is being refracted by the warehouse's windows

B. The antenna's power level was set too high and is overlapping

C. An omnidirectional antenna was used instead of a unidirectional antenna

D. The wireless access points are using channels from the 5GHz spectrum

Answer: A

NEW QUESTION 136

A technician needs to configure a Linux computer for network monitoring. The technician has the following information:
Linux computer details:

Switch mirror port details:

After connecting the Linux computer to the mirror port on the switch, which of the following commands should the technician run on the Linux computer?
A. ifconfig ecthO promisc

B. ifconfig ethl up

C. ifconfig eth0 10.1.2.3

D. ifconfig ethl hw ether A1:B2:C3:D4:E5:F6

Answer: A

NEW QUESTION 138

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy N10-008 dumps

@ 2 P asseqQs U https://lwww.2passeasy.com/dumps/N10-008/ (264 New Questions)

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy N10-008 dumps

@ 2 P QsseaQs LJ https://lwww.2passeasy.com/dumps/N10-008/ (264 New Questions)

THANKS FOR TRYING THE DEMO OF OUR PRODUCT

Visit Our Site to Purchase the Full Set of Actual N10-008 Exam Questions With Answers.

We Also Provide Practice Exam Software That Simulates Real Exam Environment And Has Many Self-Assessment Features. Order the
N10-008 Product From:

https:/lwww.2passeasy.com/dumps/N10-008/

Money Back Guarantee

N10-008 Practice Exam Features:

* N10-008 Questions and Answers Updated Frequently
* N10-008 Practice Questions Verified by Expert Senior Certified Staff
* N10-008 Most Realistic Questions that Guarantee you a Pass on Y our FirstTry

* N10-008 Practice Test Questions in Multiple Choice Formats and Updatesfor 1 Y ear

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com


http://www.tcpdf.org

